
https://www.evidyarthi.in/



(c) uJq � cm � � \ijJffl t, (Iii' � -q � 'ij; 1fA ll W«G � t am:
� lffi1Rf atR � � � � t, � 'ij; � � 'ij; Pl4•Ujtil'<
� � � � G�o11qJ tam:�� ll � � � �
�Jlq;R�t���cmcp+ffflcpl��t��
� lT � cf1lITc@ � lT � t � 'ij; � � t Pl4'11jtil'< �
� � � G�011qt1f t � xyz m;r ltl

(d) � t1+114)Gt� cm � ffl lR � � � � ti � 'ij;
cf1lITc@ Pl4iiljtii-<, � � � � � 31R t � 31R � � ll
�����Jlq;Rt��am�����-q
t1 am:����� ll � � � 'ij; � � ll t1

(e) ���cm� ffl t, � � � 'ij; � � ll m cJR-fi �
� t 3IB: � � � JJq;R � � t �� 31R � � 'ij;
cf>RUT � � � � t, 3IB: � 31R � � 'ij; cf>RUT �

���-q��������t��ltl

(f) � cfR 'ij; cf>RUT � � "fflW titJ 'ij; "tll@1-I -q i 3IB: titJ -q �
� � � � (�titf lt 4>=0)

� 2. 1%r.f-qqff@��� ���cfilotPWT���� 
qiuqftq��I 

(a) "fir 01Pt�Md anc1iRcfiltfR'�q_tr-ij�'ffl"ffl'I
(b) "fir� �q_tf � � � cf'R'"q � � � 'ffi tnl

X X X X X X X 

X X X X X X X 

(a) (b) 

(a)� lR � � � � � 'ij; � 3R"-<' � 31R t � �
3Tipfa cpl cJR � � ll � \ijJffl t qi{ � � if<J \ijJffl t (�
� titJ cpl � 3Rl � � � mcJT t) 3IB � lffi1ffi' � �
t 3Tif � � � � � � JJq;R t �<ffl ��cm cp+f <ffifi
t1 � � � � � 'ij;� � ll t1
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(b)� � � � tfR"q �mffl t "ffif � �� IITTiJ 1fi 'Elem t
����mq;;J�����q;iftqjJ�
qj«fi t1 am: � � � ��o11qd � -q � m1ft � a'd'c'b'a' �
� � mq;;J � lff;J � � � � 3lR m,

� 3. � � qf<.-l�cfil * � {l;ilifte< � if 15 -q;l "l1 � � 
2.0 cm 2 'cfiT � 9lel-"m q_tl qfl.-1�cfil cfit � * � fflf 1'Jin ti � qf<.-1�cfil 
if�� �'cfiTllR 2.0A if 4.0A "« 0.1 s ���'ffl' ��*�

���affl'�min? 
{tff � t, aR � � � � n = 15/cm = 1500 m 

mt� cpJ � A =2 cm2 =2 x 10-4 m2 

�di 4-2 2 � 'i1�qC1., - = - = - =20A/s
dt 0.1 0.1 

'JfAT e � ftcff. 'if'('{ t1 

� � Pt4+ilj'til'<, 

e = d� = E_ (BA) 
dt dt 

� e = A dB = AE. (µ
0
nl) 

dt cit 

(·: qA;,1�cf>I 'ij; � � IITTiJ B = µ
0
nl)

di � e =Aµ
0
n-

dt 

(·:4»:: BA)

0 = 2 X 10- 4 X 4 X 3. 14 X 10- 7 
X 1500 X 20 

e=7.5x10 6 V 

3@: � fa.cff. 'if(,{ 7.5 X 10 6 ti 

(•: µO = 41t X 10- 7) 

� 4. 1{cfi 3tll4dlcfil< q_tJ � � 8 cm 1l_cf 2 cm t, � � 't1'{ � qic!J 
1afT t1 � q_tJ � Mf * 3tfi1dklcld 0.3 T * C(ifieqH '!klcfil<t � � 'i(ffl'{ cfit 
3fft�_Wtl �q_tl*ciW{�'cfiT� 1 cm s-1 fm� �*ftro'tf{

� � cflN G@' fcl@;n 111lf, � q_tJ cfit 11fif 3tfildklqd 1i (a) q_tJ cfit � 
� * (b) q_tJ cfit lircft '!rlf �I� ft:qa if��� fcficR � acn 
�? 
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ffl � t, cfJ � � / = 8 cm= 8 x 10-2 m )( )( 

<ft�� b =2Cm=2 x 10-2 m 
)( )( 

� cp1 � = 1cm/s = Q01m/s 
��B=0.3T )( )( 

(a) vR � � � � �l (/=8cm=Bx10-2 m) 
)( )( 

TffaJWJ �.err. era� � 'ff 
e = Bl v = 0.3 x 8 x 10-2 x 0.Q1 = 2.4 x 10-4 V

(b) 

�-�-�'!f'T��lil t,r 

t= 
2 X 10-2

=2S
0.01 

uN � lm!l � � � l 
(/ = 2 cm= 2 x 10-2 m)
� ame.n 'ff '3tCA �.err. era 

e = Blv = 0.3 x 2 x 10-2 x 0.01 
e = 0.6 x 10-4 V

�=����=ax10-2
� 0.01 

t = 8s 

)( )( 

X )( 

)( X 

X X 

)( 

)( )( 

8cm 
)( )( 

V 

)( )( 

)( 

X X 

8cm 
X X 

X X 

JN.J s. 1.oift� '-11ijctft���M��q@ 3ifii�ktctt(3'8J�'tlmf: 
400 rad/s ctft� �����ti �cfiT�ftm� �c@lf� 
�ti 3'8.l� �1'1ft� 0.5 T cfiT i(c:fitl"IH iktctl'-1 t$r�'il � 
� 3'8J � � �� � 1@-qft 1'JURT �I 
� ���/=Pfr 

� cp1 � � Cl)= 400 rad/s

��8=0.5T 
c;:cJ ftR cp1 � � = 0
� ftR 'q;T � � = /Cl)

V = 0 + /Cl) = /Cl) 
2 2 

(·: v = f(l))

8/(l) e =Bvl=-·I 
2 

(I) 

... (i) 
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0.5 X 1 X 400 X 1e=-----
2 

e = 100V 

am: ���'ij;��fctcfl. � 10ovt1

� 6. � � � � � 8.0 � 'ff'-IT -qro cfft ml 20 tam'
� 'ciq'('{{ � 'tffur: 50 rad/s cfft � � -e' 3.0 x 10-2 T � ((cfitfqH
iklcf>14 �-q 1f' 'ffi 'ti � -q � 3ifttcfiaq 'ff'-IT oftmr ���a@'
"cfif lfR'ij@�I �� 100 �"cfif����ffi�-q �
� 3ifttcfidq lfR cfft T(1JAJ �I 'Wf � � 'cfiRUT � oftmr � cfft T(1JAJ
�I ���-e'��t? 

ifc,wf �t,���=8cm=0.08m

�'ij,���=20
��q;r�=1on
� 'ijlJ ro = 50 rad/s
� � 8=3x10-2T
� � � fcl.'cfl. � e = NBAro sin CJ)(
� ft.'cfl. � tg sin (1)( = 1
:. � fit 'cfl. � e

0 
= NBAro = 20 x 3 x 10-2 x 3.14 (0.08)2 x 50
e

0 
= 0.603 V

�� � � J
0 

=eo = o.5o3 = 0.0603A
R 10 

afR:@�ft.'cfT.�
1 i21t 1 i21t 

e = - edt = - NBAmsm(I)( dt
 

T o To 

1 [cos oot ] 
2x

e =-•NABro --
T m o

=NBA [cos 21t -cos 0° )
T 

e = N� [1-1) = 0

�"'qsf>tg�ft.'cfl. �e =0
tfltR'ij;�afR:@��

=E
0

l
0 = 0.603 x 0.0603 = 0.018 W

2 2 
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� 1t � "ij) X'itl ll � � q;y � ffl <fTiU m t1 �Ti� EJRT 
� "CR� � � � t "G1T � 'ij; � q;y fc)m:r cfRm t 3@: El@ 
M��TfWiffilfGAffl���q;)�"ffl"lltl 

� 7. iicf � � q if�� 101ft � � � 'fflHl30 x 10-4 Wb/m2 

"fflRffl � � � -¥iCc6lll � � � � � � 5.0 mis qfi � � fiR 
wrt1 

(a) �if ��cffif$a@ctiT�llRcflflmt1J?
(b) � cffif$ a@qfi mil cflfT t?
(c) �qiJ�-mftm��fcfqq"tRt?

ffl � t, � cfR q;y ctTT = 5m/s 

�cfRq;J�� 

10m W---,1....----E 

B = 0.30 x 10-4 Wb/m2 

cfR�� /=10m 
(a) cfR 1l � � fct .err. � e = Blv sin 0

�. 8=90° 

sine= 1 

v= 5 mis 

(·: crR � "ij) � � "ij) � tJccf> 'ij; ����Ti fl'R �

t)

= 0.3 X 10- 4 
X 10 X 5 = 1.5 X 10- 3 V 

(b) � "ij) � � � Pt�iiij-81'<, � � � � 31N t oif � fct. err. �

���-it�� 31N Ml

(c) � � fcl.err. <IB "llT EJRT � � � � 1{ci � 31N t, am: � fffiT
� fcl11q "CR t1
(EJRT � � fcl11q � � fcl11q � 31N � t)

� 8. ��if 0.1 s if� 5.0A � O.OA oiiiftRffti-1 � am@� 
� lffff lffl 200 Vt 'ffl � if ��(cfi{i51 ���I 
ffl EJRT Ti� di= 5-0= 5A 

EJRT�Tf ��� dt=0.1s 
� afrffit fcl.qy, � e =200V 

di 
e=L-

dt 

200 = L (�) "lJT L = 200 = 4 H
0.1 50 
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Ques 6

Ques 7



� 9. 'tfm-'tfm ffl !ii��4f * � � qiJ � � 1.5 H t1 � � 
� � 0.5 s � 'EIRT O � 20 A -qftclffio 'ITT, 'ffl � � ctft "fficRT, � �

fcffiRT�mirr? 

� �t.�cpf"ITT"OJ� 

M = 1 .5 H 

�1lEIRT�d/=20-0=20A 

�-it�llm�dt=0.5s 

�ll�fctm. �e=M dl = d<!> 
dt dt 

d<!>=M.dl 

= 1.5 X 20 

d<!>= 30Wb 

am: � � 30 Wb ti 

� 10.� � � � ctft am 1soo km/h��� t, � � -qw 
25 m �t1�mull{fcffir;rr fctiteiHl<�1t1TT? �� ,Jklcfi\'-4 �qif� 
��"ti{ 6 x 10-4 T � -;da cffi'Uf (dip angle) 30° ti

� � "llR qiT 'ijTf V = 1800 km/h = 1800 X � = 500 m/S 
18 

/=-cfm c); � � � =25m 

� � 8=5x10-4 T 

aja cfflUT 6=30° 

fct.m. � � Tfftf cpT � � ffi lR 

e = B.,vl

e = 8sin6 vi

(�,By�c);��q;y�trect,t :. B.,=Bsin6) 

e = 5 x 10-4 sin 30° x 500 x 25 = 3 .1 V 

am: � c); � � fct1l<fRR 3 .1 V ti 
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Ques 8




